ZTechnlk Lexan® FMR Polycarbonate Windshield
Z2263 and Z2264, Tall for F 650 GS Dakar 2001-2003
Will also fit the F 650GS Standard 2001-2003
with additonal part from BMW, see Note below.

S T =y

Read these lnstructlons carefully and thoroughly before beginning work.

Contents of Kit Qty. Tools Required:
Windscreen, Lexan FMR polycarbonate 1 -
Bag 515 TX25 Screwdriver.
Cap, aluminum 3 3mm Hex Key

Screw, Flat HS M5 x 40
Screw, Flat HS M5 x 30
Bushing, Rubber 3

INSTALLATION

=N

1. Remove the 3 original Torx screws from existing BMW wind-
shield. Screws will not be reused. Figure 1. (TX25 Screwdriver)

2. Remove the original BMW windshield. The U shaped plastic
piece beneath original windshield will fall free. You will re-use this
piece with the installation of the ZTechnik windshield.

NOTE: To properly install this shield on an F 650 GS (NON-
DAKAR Model), you will need to purchase the U-shaped plastic
piece from your BMW dealer. The BMW part number is 71-60-7-
653-849.

3. Install 3 rubber grommets into new ZTechnik windshield holes.
Figure 2.

Install ZTechnik Windshield

4. Reposition U shaped plastic piece. Start at the lower center
hole and install the ZTechnik windshield with 1 Aluminum Cap and
the M5x30 Screw (short screw.) Figure 2. (3mm hex Key)

5. Install 2 remaining Aluminum Caps and the M5x40 Screws at
the remaining hole locations, left and right side. Figure 3. (3mm
hex Key)

6. Tighten all screws. Do not over tighten

Figure 2

Figure 3

F = Az o ARz = P 1 1 - — L)

ZTechnik PO Box 158 Maywood, IL 60153-0158 USA
708-343-0400 / Fax: 708-343-0625 / www.Z Technik.com / e mail: info@Z Technik.com
| ©2004 National Cycle, Inc. Page 1 of 2 10-117757-000 04/04 Rev. B 10/10

P —— = =




MAINTENANCE

To clean the screen, wash with a clean soft cloth, plenty of
warm water and if necessary, a non-abrasive soap such as
dishwashing liquid. Flannel or soft chamois make good clean-
ing cloths. Paint, glue residue or grease removal: Moisten
cotton with Naphtha or Turpentine followed by a wash as
above. National Cycle Shield Wash™ makes a good daily
cleaner and comes with a handy travel size bottle. N1401-01
Shield Wash is safe to use on helmet visors as well.

Please do not clean polycarbonate in hot sun or high temper-
atures. Do not clean the screen with glass cleaners or use
rain protective products on the screen. Do not allow brake
fluid, alcohol, or strong solvents to contact the screen.

A\ WARNING

Never ride your motorcycle with loose accessory mounting hardware. Check the hardware for tightness regularly.

Today's motorcycles are built with enough frame rigidity to withstand the moderate loads imposed on them by the foreseeable addi-
tion of an accessory(ies). If an accessory(ies) adversely affects your motorcycle's stability, immediately remove the accessory(ies).
Do not ride a motorcycle that exhibits unsafe handling traits.

Have experienced service personnel correct any problem before riding with the accessory(ies) installed. For further questions con-

cerning handling problems associated with an accessory(ies), contact your dealer, motorcycle manufacturer, or accessory manufac-
turer.

Register your windshield on Line at: www.ZTechnik.com E
ZTechnik hereby warrants to the original registered owner of a ZTechnik polycarbonate windshield for a period of

three years from the date of purchase against breakage. This limited warranty is expressly limited to the replace- E
ment of the polycarbonate windscreen. This limited warranty does not include scratches, coating failure, cosmetic E

wear and tear, replacement of hardware, or any consequential damages or expenses including labor cost of installation, removal

and/or replacement, inconvenience, inbound freight expenses or damage to any other component of the motorcycle or any other

accessories. Certain chemicals, generally known as acidic hydrocarbons, are known to cause polycarbonate damage and will not
be covered under this limited warranty. Please refer to the cleaning instructions supplied with all ZTechnik windshields.

Visit www.ZTechnik.com for further details are call or write ZTechnik / PO Box 158 / Maywood, IL 60153 / 708-3430400

i Az = AR = ANz — xﬂl\l‘&:ﬁ

ZTechnik PO Box 158 Maywood, IL 60153-0158 USA
708-343-0400 / Fax: 708-343-0625 / www.Z Technik.com / e mail: info@Z Technik.com
©2004 National Cycle, Inc. Page 2 of 2 10-117757-000 04/04 Rev. B 10/10

L= aliE L= a i L™ P/ B P |



